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I Read the passage below and answer the questions. For all the questions, write

the letter (@), (b), (C), or (d) on your answer sheet.

A A
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A A
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AN A

(Hi#L : The Japan News by The Yomiuri Shimbun, June 15, 2020 & 0 $#e U —EF
W)
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proposition*! = & realm*? = 485

enhance®® = ~ 2@\ L2 immune system™! = FE 25 A
gross domestic product per capita®® = — A%7= 0 OENEREE
prosperous*® = E/niz hover*’ = X% 3%

elucidate*® = A9 % barometer*® = NO X —% —, RE
transient*!’ = —BEF 7z specific*!! = BHFE/

induce*? = ~Z2B|EREIT prerequisite™’® = JAZESM:
apprehensive *!* = [LVEE 73 intrinsically*!® = A3k
comprehensive*!® = AIEHYR altruistic*!" = Ffhag7z

amid the coronavirus epidemic*® = a0F 1 IV ZDHEITDE > HEFIT
conversely *¥ = |z stoke*? = METS

1 Which of the following is closest in meaning to “take” in Paragraph [2]?
(@) thoughts
(b) profits
(C) catch

(d) acceptance

fil 2 Which of the following is correct, according to Paragraph [ 3]?
(@) The words healthiness and happiness mean the same thing.
(b) The words kofuku and kenko mean the same thing.
(C) The ideas of healthiness and happiness can be combined in the word
“well-being”.

(d) Everybody wants to be healthy in order to be happy.
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] 3 Which of the following is correct, according to Paragraphs [ 3] and [4]?

Some religions recommend that people pursue happiness.

Those who distinguish between healthiness and happiness believe that
people can feel happy by searching for it.

There is no evidence that people can improve well-being by intention.
People can feel happier in a purposeful manner according to researchers

who study well-being.

il 4 In Paragraph [5], what is meant by “spending each day lifting the

corners of their mouth”?

(@)
(b)
(@)
(d)

eating well every day
doubling income
smiling daily

lifting weights every day

] 5 Which statement is correct, according to Paragraph [6]?

(d)

Japan has become richer, so most Japanese people are happier now.
Japanese people are unhappy that the country’s gross domestic product
per capita is not No. 1 in the world.

Japanese people are not happier compared to 50 years ago even though
Japan has become richer.

Japanese people are not raising the country’s gross national product.

il 6 Choose the most appropriate phrase or word for ( A ) in Paragraph

[81].

On the other hand
For instance

In brief

Although
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M 7 According to Paragraphs [ 8] and [ 9], in order to have a high sense of

happiness, which of the following would the author suggest doing?
(@) working hard in your workplace to gain a stable income as much as you
can
(b) engaging in activities which improve your salary and social status
(C) balancing your health and your job

(d) involving yourself in environmental issues

B 8 Which pair of words could replace tangible and intangible in Paragraph
[9]?
(@) reliable and unreliable
(b) visible and invisible
(C) reversible and irreversible

(d) realistic and unrealistic

B 9 According to Paragraphs [10] to [12], the author thinks that the
bipolarization (two things becoming exactly opposite) can be caused
by

(@) uncertain situations
(b) getting mutual help
(C) exercising creativity

(d) a stable economy

10 Which of the following would be the best title for this reading passage?
(@) Exploring Creativity
(b) Making Money
(C) Understanding Happiness

(d) Controlling Emotions
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I Read the passage below and answer the questions. For all the questions, write

the letter (@), (b), (C), or (d) on your answer sheet.

A A
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A3 H

(HiB : Lauren Cahn, “12 Coronavirus mysteries that still can’t be explained”,

Reader’s Digest, June 12, 2020 & D #i#e U —Eh %)
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pneumonia™! = i

Wuhan wet market™? = BED £ LT

in the interim*® = Z QREIC*

pangolin™* = & ¥ > a7 (LM, ﬁgh:ﬂé DEND)

preliminary*® = F{Ea972 mutate*® = ZBRAELET 5

disproving*’ = KaE& HIT5

superspreader™® = Z—/N— « A7 L v ¥ — (I AIZH U THEAREREL RS

BE)
viral*™ = T )V AD saliva™!? = R, DT
potent*!' = F& A vexing*? = W5 7282
asymptomatic™?® = EEIR D communicable disease™!* = RYYE
Typhoid Mary™?® = [gF 7 ZAD AT U —
typhoid fever*!® = g7 X Reader’s Digest™ = ATIHEFED4H]

antibody™*® = Fifk (RNIZ A o 7SR RE 2 HERR 3 2 Se B E)

R 1 In Paragraph [ 1], what is the most appropriate phrase to fillin ( A )?
(@) be apart from
(b) be in place of
(C) be on behalf of

(d) belong to

f 2 In Paragraph [ 2], what is the most appropriate word to fillin ( B )?
(@ However
(b) Also
() Since

(d) Nevertheless
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il 3 In Paragraph [4 ], what does “the way it would in nature” mean?

(@) as the viral evolution would happen in nature
(b) as a biological weapon would be developed in nature
(C) as the coronavirus would attack nature

(d) as scientists studied the coronavirus in nature

] 4 Which of the following topics would best describe the contents of
Paragraph [ 1] to Paragraph [4]?
(@ How COVID-19 started.
(b) How to fight COVID-19
(C) How to research COVID-19
(d) How scientists made COVID-19.

] 5 In Paragraph [5], which of the following is closest in meaning to
“loads”?
(@) thresholds
(b) distances
(C) quantities

(d) costs

il 6 Which of the following would best describe Paragraph [ 5]?
(@) How does a superspreader spread the virus?
(b) What is the best way to prevent infection?
(C) Where can we find a superspreader?

(d) When can researchers detect a superspreader?
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[ 7 1In Paragraph [6 ], the author introduces Mary Mallon
because
(@) she was an example of a superspreader
(b) she was an amazing cook
(C) she researched the history of typhoid fever

(d) she discovered typhoid fever

M 8 In Paragraph [7], who is “that person”?
(@) a person who tests positive for COVID-19 antibodies
(b) a person with an illness
(C) a person with typhoid fever

(d) a person who is infected without any symptoms

B 9 According to Paragraphs [ 5] to [ 7], which of the following statements
is true?
(@) Scientists have confirmed that Mary Mallon spread COVID-19.
(b) Superspreaders never show symptoms.
(C) Only asymptomatic carriers can test positive for COVID-19 antibodies.

(d) Superspreaders have also appeared before COVID-19.

110 Which of the following statements is NOT supported by the article?
(@) Masks reduce the spread of COVID-19.
(b) COVID-19 was proven to have come to humans from pangolins.
(C) 25 to 80 percent of people who are infected with COVID-19 have no
symptoms at all.

(d) Superspreaders in mass gatherings can be dangerous to others.
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Il Should junior high school students be allowed to use their own smartphones at
school? Answer in English in about 100 words. Start your answer by stating

your opinion and give two reasons to support your opinion.
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